& W :Aq paysinbuijey

| o | ebed

:Aq paysinbuijey

C.\Q :Aq paalasay \ 3 :Aq panleday

Gondy B ¢ $ bLAg\0 ewieea b.ra a0 : » \G-\0 eswieea
0S- yosjway 610¢/20/10 LSO LG P01S3IM 0 Bap  j00D Spljos juadlad S§1-90€IM pios 6L02/CL/L0
0S- yosjwayp 8L0C/¥LICL 86590 LS YOLS3IM 0 Bap ¢ |00 SPI|OS jusdlad ¥1L-90€1LM plos 8Log/veiel
0S- Yosjusyg 8L0¢/vLICL 165901 LG POLS3IM 0 Bep ¢ |00 Spljos jusdiad €1-90€IA pllos 8Log/vercl
0S- Yasjwayy 8L0c/vLIEL 965921 LG ¥0LSIM 0 Bap |00 SPI|oS jusdlad CL-90€ M pllos 8L0e/vertl
0S- Yasyweyg 8L0c/vLIEL S6S92IN LG P01S3IM 0 Bap ¢ |00 SPIjoS jusdiad LL-90EIA plos 8Loe/veigL
0S- Yosywayp 8LoemvLicL #6592 LS P0LSIM 0 Bap y |00 SpIjos jusalad 01-90€ I pllos 8Loz/ve/cL
0S- Yyasjwayp 8LOC/PLICL Se6990I LG7 POLSIM 0 Bep ¢ |00 Spljog jusdlad 60-90€ LM pllos 8LoZ/vercl
0S- Yasjwayg 8LOZ/FLICL acesdaon LG POLSIM 0 Bep ¢ [00D Spl|os jusdlad 80-90¢€ M plos 8Log/ve/eL
0S- yasjweyp 8L0g/vLIEL €659 197 POLSIM 0 Bep 1000 SPI|OS juadiad £0-90€I M plos 8L0Z/ve/eL
OS- Yyosjwayp 8LOZ/LL/EL <6540 LS POLSIM 0 Bap ¢ [00D Spljos jusdiad 90-90€ LA plos 8L0¢/Lecl
0S- Yyoswayp 8L0e/LL/CL L6590 3=p YOLS3IM 0 Bep ¥ 00D Spljos jusdlad G0-90€ 1A pllos 8Log/Leret
0S- Ydsjweyp 8Log/LL/EL 06592IN 1§71 POLSIM 0 Bap ¥ [00D SpljoS JusdIad ¥0-90€ 1M pllos 8Lo¢/LE/EL
I0S- Yasjuayy 8LOZ/LL/ZL 68540 LS POLSIM 0 Bep ¢ 00D Spl|os jusdiad €0-90€ M pllos 8Lozg/Lerel
0S- Yosjwayy 8Log/LL/ZL 88590 LG #OLSIM 0 Bap  [00D Spljos Jusdlad €0-90€ M pllos 8LozZ/Le/cl
0S- Yosjwsyg 8L0Z/LLICL 28590 161 7OLSIM 0 Bep y |00D Spljos jusdiad L0-90€ M pllos 8L0Z/Lecth

poylsi ajeq 329|109 a|dwesg Jawolshy CMMM_MNM Jawolshy BAIlBAIBSDId }sa] a|dweg xujepn 9je(q ang

Nd £5:06°€ 6L0Z/LE/L

- 9jeq £6L12C1 - Al ISIPHoM 0E AL % - SWEN ISITHIOM

(ureyd jeussju] AdoopieH) L SITHHOM

Mi,mog/ﬁﬁ



